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#1:3 ﬁﬂl%(l’ﬁ 96) #2: 6 B1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

1 NS: st E(5GH0) 9 3 S: 23S BZR(EIC) 7 | 11.27 : 8.73 | Total VP: 102.91 Rank:
EW: ggg ﬁﬁﬁﬁﬁg([%ﬁc) 27 EW: #IEF] 3 E/Z(BAO) -9) IMP:| 13 7
I
#9 'y 983 3HE3 -140 Mean: 4HE-2 200 80 1 |[#10 » QT65 4HEG6 -680 Mean: 5HE6 680 7.0 1
v 72 3CN3 110 -130 3CN3 110 6.0 1 v K8 4HW6 -680 -980  4HW7 710 7.0 1
* QJ72 Dif: -250 NS:0 3CS-1 -50 20 2 + 653 Dif: 0 NS:7 4HW6 680 7.0 2
& A763 IMP: -6 EW:-6 4CS-2 4100 1.0 1 » K984 IMP: 0 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 00 1 ||v QJ9643 _I_ v A72 6HW7 1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NE3 -400 Mean: 3NE3 400 1.0 1 ||#12 o AT972 2HE2 -110 Mean: 3NE-3 150 50 1
v T86 4SW4 -420 -420 4SW4 420 00 7 v T984 4HW-150 -60  4HW-2 100 40 1
¢ J9632 Dif: 20 NS:1  3NW4 430 00 1 ¢ T54 Dif: -160 NS:-2 3NE-2 100 40 2
& QJ98 IMP: 1 EW:0 3NE4 430 00 1 & J IMP: -4 EW:-3 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 2HS-1-100 Mean: 2HS3 140 60 2 ||# 14 4 J63 1SS3 140 Mean: 2SS4 170 20 1
v AT42 3HS-1-100 -100 2HS2 110 50 1 v A963 1NS190 100 1NS3 150 2.0 1
+ A62 Dif: 0 NS:0 3HS-1 4100 00 1 ¢ 9652 Dif: 50 NS:1 1SS3 140 10 1
» K32 IMP: 0 EW:0 3HN-1 100 00 1 » Q8 IMP: 2 EW:0 1NN2 120 1.0 1
» AT82 N » Q63 2HS-1 100 00 1 ||a 754 a Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 1SS2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4HE-1 50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 2HW2 -110 Mean: 3DXS3 470 110 1
v 842 4SW4 -420 110  4HE-1 50 40 2 v A932 3DXS-1-100 -40  4HW-2 200 6.0 2
¢ 873 Dif: 470 NS:4 3sw4 470 20 1 + J876 Dif: -10 NS:-2 2CE-1 100 40 1
& AK753 IMP: 10 EW:7 5DS-4 400 70 1 &6 IMP: 0 EW:2 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . + K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

2 NS: # st SIRSEEREO) 5 5 NS: E€5E HZZ(BAC) 9 7.58 12.42| Total VP: 91.21 Rank:
EW: ZIE=2 B2%EEAC) -9 EW: [RES) 5REE(BAO) -5 IMP:| 7 8
I I
#9 » 983 3CS-1-50 Mean: 4HE-2 200 80 1 |[[#10 » QT65 4HE7 -710 Mean: 5HE6 680 7.0 1
v 72 4CS-2-100 -130  3CN3 110 6.0 1 v K8 4HW6 -680 -980  4HW7 710 7.0 1
* QJ72 Dif: 50 NS:2 3CS-1 -50 20 2 + 653 Dif: -30 NS:7 4HW6 680 7.0 2
& A763 IMP: 2 EW:-1 4CS-2 4100 1.0 1 » K984 IMP: -1 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NW4 -430 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-2 100 Mean: 3NE-3 150 50 1
v T86 4SW4 -420 -420  4SW4 420 00 7 v T984 4HW-2100 -60  4HW-2 100 40 1
¢ J9632 Dif: -10 NS:0 3NW4 430 00 1 ¢ T54 Dif: 0 NS:4 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 0 EW:-4 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 o K54 4HN-2 -200 Mean: 2HS3 140 6.0 2 (|# 14 a J63 1NS3 150 Mean: 2SS4 170 20 1
v AT42 2DXW3 -380 -100 2HS2 110 50 1 v A963 2SS4 170 100  1NS3 150 2.0 1
+ A62 Dif: 180 NS:-3 3HS-1 4100 00 1 ¢ 9652 Dif: -20 NS:2 1SS3 140 10 1
» K32 IMP: 5 EW:7 3HN-1 100 00 1 » Q8 IMP: -1 EW:-2 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4SW-1 50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 4HW4 -620 Mean: 3DXS3 470 110 1
v 842 4SW-150 -110  4HE-1 50 40 2 v A932 5DXS-1-100 -40  4HW-2 200 6.0 2
¢ 873 Dif: 0 NS:4 3sw4 470 20 1 + J876 Dif: -520 NS:-11 2CE-1 100 40 1
& AK753 IMP: 0 EW:-4 5DS-4 400 70 1 &6 IMP: -11 EW:2 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

3 NS: 5 B EIC) 7 1 NS: &R B (FH0) 9 8.73 11.27 | Total VP: 133.96 Rank:
EW: ;H}]I[Eﬂ?[[ %EP(B?JO) 9 EW: BREIE 3w iA(BAC) -7 IMP:| 10 1
o I
#9 'y 983 3HE3 140 Mean: 4HE-2 200 80 1 |[#10 » QT65 4HEG6 680 Mean: 5HE6 680 7.0 1
v 72 3CN3 -110 -130 3CN3 110 6.0 1 v K8 4HW6 680 -980  4HW7 710 7.0 1
* QJ72 Dif: 250 NS:6 3CS-1 -50 20 2 + 653 Dif: 0 NS:7 4HW6 680 7.0 2
& A763 IMP: 6 EW:0 4CS-2 4100 1.0 1 » K984 IMP: 0 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NE3 400 Mean: 3NE3 400 1.0 1 ||#12 o AT972 2HE2 110 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420  4SW4 420 00 7 v T984 4HW-1-50 -60  4HW-2 100 40 1
« J9632 Dif: -20 NS:0 3NW4 430 00 1 ¢ T54 Dif: 160 NS:3  3NE-2 100 40 2
& QJ98 IMP: -1 EW:-1 3NE4 430 00 1 & J IMP: 4 EW:2 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
¢ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 2HS-1100 Mean: 2HS3 140 60 2 ||# 14 4 J63 1SS3 -140 Mean: 2SS4 170 20 1
v AT42 3HS-1100 -100 2HS2 110 50 1 v A963 1NS1-90 100  1NS3 150 2.0 1
+ A62 Dif: 0 NS:0 3HS-1 4100 00 1 ¢ 9652 Dif: -50 NS:0 1SS3 140 10 1
» K32 IMP: 0 EW:0 3HN-1 100 00 1 » Q8 IMP: -2 EW:-1 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4HE-1 -50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 2HW2 110 Mean: 3DXS3 470 110 1
v 842 4SW4 420 110  4HE-1 50 40 2 v A932 3DXS-1100 -40  4HW-2 200 6.0 2
¢ 873 Dif: -470 NS:-7 3SW4 470 20 1 + J876 Dif: 10 NS:-2 2CE-1 100 40 1
& AK753 IMP: -10 EW:-4 5DS-4 400 70 1 &6 IMP: 0 EW:2 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

4 NS: P& 5= 8h(5E0) -5 6 NS: BREEZE 2 (BAC) 10 11.27 . 8.73 Total VP: 82.99 Rank:
EW: BRZER: #5E3EAC) 10 EW: ZhiEi8 FERE(BAO) 5 IMP:| 24 10
I - I
#9 » 983 2HE3 -140 Mean: 4HE-2 200 80 1 |[#10 » QT65 5HE6 -680 Mean: 5HE6 680 7.0 1
v 72 3CS-1-50 -130 3CN3 110 6.0 1 v K8 6HW6 -1430 -980  4HW7 710 7.0 1
* QJ72 Dif: -90 NS:0 3CS-1 -50 20 2 + 653 Dif: 750 NS:7 4HW6 680 7.0 2
& A763 IMP: -3 EW:-2 4CS-2 4100 1.0 1 » K984 IMP: 13 EW:10 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 -420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-3 150 Mean: 3NE-3 150 50 1
v T86 4SW4 -420 -420 4SW4 420 00 7 v T984 3SN-2-200 -60  4HW-2 100 40 1
¢ J9632 Dif: 0 NS:0 3NW4 430 00 1 ¢ T54 Dif: 350 NS:5 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 8 EW:4 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
# 13 & K54 3NS-3-300 Mean: 2HS3 140 60 2 |(|#14 4 J63 1NN2 120 Mean: 2SS4 170 20 1
v AT42 3HN-1-100 -100 2HS2 110 50 1 v A963 2CE-150 100  1NS3 150 2.0 1
* A62 Dif: 200 NS:-5 3HS-1 4100 00 1 ¢ 9652 Dif: 70 Ns:1 1SS3 140 1.0 1
» K32 IMP: -5 EW:0 3HN-1 100 00 1 » Q8 IMP: 2 EW:2 1NN2 120 1.0 1
& AT82 \ 4 Q63 2HS-1 100 00 1 ||s 754 » Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
* Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 5DS-4 -400 Mean: 4SW-1 50 40 4 ||# 16 » QJT7 5DXS-2 -300 Mean: 3DXS3 470 110 1
v 842 4SW4 -420 -110  4HE-1 50 40 2 v A932 3DXS3 470 -40  4HW-2 200 6.0 2
¢ 873 Dif: 20 NS:-7 3Sw4 470 20 1 + J876 Dif: -770 NS:-6 2CE-1 100 40 1
& AK753 IMP: 1 EW:7 5DS-4 400 70 1 &6 IMP: -13 EW:-11 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
+ Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

5 NS: BE&5E 2 ZE0) 9 2 NS: EEH 2ImZEBIo) 5 1242 : 7.58 Total VP: 129.66 Rank:
EW: BEEEE) BiFEEI0) -5 EW: 8lf5& 5Ei5(BAC) -9 IMP:| 13 7 3
I o I
#9 # 983 3CS-150 Mean: 4HE-2 200 80 1 # 10 » QT65 4HE7 710 Mean: 5HE6 680 7.0 1
v 72 4CS-2100 -130 3CN3 110 6.0 1 v K8 4HW6 680 -980  4HW7 710 7.0 1
* QJ72 Dif: -50 NS:1  3CS-1 -50 20 2 + 653 Dif: 30 NS:7 4HW6 680 7.0 2
& A763 IMP: -2 EW:-2 4CS-2 4100 1.0 1 » K984 IMP: 1 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NW4 430 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-2 -100 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420  4SW4 420 00 7 v T984 4HW-2 -100 -60  4HW-2 100 40 1
« J9632 Dif: 10 NS:0 3NW4 430 00 1 ¢ T54 Dif: 0 NS:4 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 0 EW:-4 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
¢ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
# 13 & K54 4HN-2 200 Mean: 2HS3 140 60 2 |(|#14 4 J63 1NS3 -150 Mean: 2SS4 170 20 1
v AT42 2DXW3 380 -100 2HS2 110 50 1 v A963 2SS4 -170 100  1NS3 150 2.0 1
+ A62 Dif: -180 NS:-7 3HS-1 4100 00 1 ¢ 9652 Dif: 20 NS:2 1SS3 140 10 1
» K32 IMP: -5 EW:3 3HN-1 100 00 1 » Q8 IMP: 1 EW:-2 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 1SS2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4SW-1-50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 4HW4 620 Mean: 3DXS3 470 110 1
v 842 4SW-1-50 -110  4HE-1 50 40 2 v A932 5DXS-1100 -40  4HW-2 200 6.0 2
¢ 873 Dif: 0 NS:4 3sw4 470 20 1 + J876 Dif: 520 NS:-2 2CE-1 100 40 1
& AK753 IMP: 0 EW:-4 5DS-4 400 70 1 &6 IMP: 11 EW:11 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 v KT5 2HW2 410 20 1
* Q6 ¢ 54 . + K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
* VAN 462 * ¢ VAN 4,653 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

6 NS: BrzE#E IR B EHC) -10 4 NS: ##53H IR E)(BO) -5 8.73 11.27 | Total VP: 133.48 Rank:
EW: Eig&s EHEEBEI0) 5 EW: [RIERE FE1E3R(BAC) 10 IMP:| 21 2
I — I
#9 » 983 2HE3 140 Mean: 4HE-2 200 80 1 |[#10 » QT65 5HE6 680 Mean: 5HE6 680 7.0 1
v 72 3CS-150 -130 3CN3 110 6.0 1 v K8 6HW6 1430 -980  4HW? 710 7.0 1
* QJ72 Dif: 90 NS:2 3CS-1 -50 20 2 + 653 Dif: -750 NS:-10 4HW6 680 7.0 2
& A763 IMP: 3 EW:0 4CS-2 4100 1.0 1 » K984 IMP: -13 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-3 -150 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420 4SW4 420 00 7 v T984 3SN-2200 -60  4HW-2 100 40 1
« J9632 Dif: 0 NS:0 3NW4 430 00 1 ¢ T54 Dif: -350 NS:-4 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: -8 EW:-5 4HW-1 50 30 1
» AJ8432 » 97 » J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 + Q93 + KJ86 3SN-2 200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 3NS-3 300 Mean: 2HS3 140 60 2 ||# 14 4 J63 1NN2 -120 Mean: 2SS4 170 20 1
v AT42 3HN-1100 -100 2HS2 110 50 1 v A963 2CE-1-50 100  1NS3 150 2.0 1
+ A62 Dif: 200 NS:0 3HS-1 4100 00 1 ¢ 9652 Dif: -70 NS:-2 1SS3 140 10 1
» K32 IMP: 5 EW:5 3HN-1 100 00 1 » Q8 IMP: -2 EW:-1 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 5DS-4 400 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 5DXS-2 300 Mean: 3DXS3 470 110 1
v 842 4SW4 420 110  4HE-1 50 40 2 v A932 3DXS3 -470 -40  4HW-2 200 6.0 2
¢ 873 Dif: -20 NS:-7 3Sw4 470 20 1 + J876 Dif: 770 NS:11 2CE-1 100 40 1
& AK753 IMP: -1 EW:7 5DS-4 400 70 1 &6 IMP: 13 EW:6 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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#9

v A54

AKQ75
AQ75

Linn 428

1 INN e

SmnZ e<cd>
wwill 4

wwillP

trlr Zz

NS: Sf8ise BREEBHO) -1 9 NS: 2835 JEFERA(BAC) -2 10.00 : 10.00| Total VP: 109.71 Rank:
EW: 27 FEEEI0) 2 EW: #1418 BRIIEF(BAO) 1 IMP:| 19 5
o -
» 983 5CXS-3 -500 Mean: 4HE-2 200 80 1 |[#10 » QT65 4HW?7 -710 Mean: 5HE6 680 7.0 1
v 72 4HE-2200 -130 3CN3 110 6.0 1 v K8 6HW6 -1430 -980  4HW7 710 7.0 1
* QJ72 Dif: -700 NS:-9 3CS-1 -50 20 2 + 653 Dif: 720 NS:7 4HW6 680 7.0 2
& A763 IMP: -12 EW:-8 4CS-2 4100 1.0 1 » K984 IMP: 12 EW:10 4HE7 710 7.0 1
# 7654 3HE3 140 00 2 ||a A8 » KJ94 4HE6 680 7.0 1
v AKJ85 2HE3 140 00 1 ||v QJ9643 _I_ v A72 6HW7 1460 -10.0 1
— + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
&T A & JT73
a AT2 PO VAN 4,732
v 643 N ~~~~~ vT5
+ K S ~~~~~ ¢ QT82
& KQ8542 E ~~7~6 & Q652
W ~~7~6
a5 4SW4 -420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE4 -430 Mean: 3NE-3 150 50 1
v T86 3NE4 -430 -420  4SW4 420 00 7 v T984 3NE4 -430 -60  4HW-2 100 40 1
« J9632 Dif: 10 NS:0 3NW4 430 00 1 ¢ T54 Dif: 0 NS:-9 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 0 EW:9 4HW-1 50 30 1
a~ 97 ~ J65 » KQ 3NE-1 50 30 1
v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 + Q93 + KJ86 3SN-2 200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 &AT852
W 232~2
& K54 2HS3 140 Mean: 2HS3 140 60 2 ||# 14 4 J63 2HN-1 -50 Mean: 2SS4 170 20 1
v AT42 2HS2 110 -100 2HS2 110 50 1 v A963 18S2110 100  1NS3 150 2.0 1
» A62 Dif: 30 NS:6 3HS-1 4100 00 1 ¢ 9652 Dif: -160 NS:-4 1SS3 140 10 1
» K32 IMP: 1 EW:-5 3HN-1 100 00 1 » Q8 IMP: -4 EW:0 1NN2 120 1.0 1
\ » Q63 2HS-1 100 00 1 ||a 754 a Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 1SS2 110 00 1
+ + Q5 aHS3 300 50 1||e AST3 * KJ NST 9 00 1
» T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
» J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
v QJ96 N ~2222 ¢T74
*J9 S ~2221 QT4
& AJ76 E 1~~~~ &AJ2
W 1~~~-~
»93 4HE-1 50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 2CE-1100 Mean: 3DXS3 470 110 1
v 842 3SW4 -170 110  4HE-1 50 40 2 v A932 4HW-2 200 -40  4HW-2 200 6.0 2
¢ 873 Dif: 220 NS:4 3SW4 470 20 1 + J876 Dif: -100 NS:4 2CE-1 100 40 1
& AK753 IMP: 6 EW:2 5DS-4 400 70 1 &6 IMP: -3 EW:-6 5DXS-1 4100 20 1
» JT84 4sw4 420 -7.0 2 | |s AK984 a 3DXS-1 100 20 1
v KJT3 v J8764 — v KT5 2HW2 110 20 1
¢ 54 3 * K942 3HE4 170 40 1
» J96 » Q92 & AJ8754 5DXS-2 -300 -6.0 1
» 62 % ¢ VAN 4, 6532 4HW4 620 -11.0 1
v 96 N~2~~~w9Q
+ AKJT92 S ~2~~~ ¢ AQT53
& T42 E 4~3~1 a&KT3
W 4 ~3 ~~
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8 NS: $]2:3% B GHO) -1 10 NS: E3Z5E sREFH(BAC) -10 13.12 : 6.88 Total VP: 123.02 Rank:
EW: )“é‘éﬁ%& ﬁﬁ?ﬁ(ﬁﬁ@ 10 EW: Z3}#% FBIr5(BAO) 1 IMP:| 19 1 4
o
#9 'y 983 3HE3 -140 Mean: 4HE-2 200 80 1 |[#10 » QT65 6HW6 -1430 Mean: 5HE6 680 7.0 1
v 72 5CXS-3 -500 -130 3CN3 110 6.0 1 v K8 6HW7 -1460 -980  4HW7 710 7.0 1
* QJ72 Dif: 360 NS:0 3CS-1 -50 20 2 + 653 Dif: 30 NS:-10 4HW6 680 7.0 2
& A763 IMP: 8 EW:9 4CS-2 4100 1.0 1 » K984 IMP: 1 EW:10 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 -420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-1 50 Mean: 3NE-3 150 50 1
v T86 4SW4 -420 -420 4SW4 420 00 7 v T984 3NE-2100 -60  4HW-2 100 40 1
« J9632 Dif: 0 NS:0 3NW4 430 00 1 ¢ T54 Dif: -50 NS:3  3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: -2 EW:-4 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
¢ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 2HS3 140 Mean: 2HS3 140 60 2 ||# 14 4 J63 2HN2 110 Mean: 2SS4 170 20 1
v AT42 4HS-3 -300 -100 2HS2 110 50 1 v A963 2HN2 110 100  1NS3 150 2.0 1
+ A62 Dif: 440 NS:6 3HS-1 4100 00 1 ¢ 9652 Dif: 0 NS:0 1SS3 140 10 1
» K32 IMP: 10 EW:5 3HN-1 100 00 1 » Q8 IMP: 0 EW:0 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4SW-1 50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 3HE4 -170 Mean: 3DXS3 470 110 1
v 842 4SW-150 -110 4HE-1 50 40 2 v A932 4HW-2 200 -40  4HW-2 200 6.0 2
¢ 873 Dif: 0 NS:4 3sw4 470 20 1 + J876 Dif: -370 NS:-4 2CE-1 100 40 1
& AK753 IMP: 0 EW:-4 5DS-4 400 70 1 &6 IMP: -9 EW:-6 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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9 NS: ZHHIE 5REHEHEAC) -2 7 NS: 21585 B 4(BO) -1 P:| 10.00 : 10.00| Total VP: 108.22 Rank:
EW: St BRI $R(BEO) 1 EW: RIE5 BEEE(FC) 2 IMP:| 19 19 6
I o -
#9 » 983 5CXS-3 500 Mean: 4HE-2 200 80 1 |[#10 » QT65 4HW7 710 Mean: 5HE6 680 7.0 1
v 72 4HE-2 -200 -130 3CN3 110 6.0 1 v K8 6HW6 1430 -980  4HW? 710 7.0 1
* QJ72 Dif: 700 NS:8 3CS-1 -50 20 2 + 653 Dif: -720 NS:-10 4HW6 680 7.0 2
& A763 IMP: 12 EW:9 4CS-2 4100 1.0 1 » K984 IMP: -12 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE4 430 Mean: 3NE-3 150 50 1
v T86 3NE4 430 -420 4Sw4 420 00 7 v T984 3NE4 430 -60  4HW-2 100 40 1
¢ J9632 Dif: -10 NS:0 3NW4 430 00 1 ¢ T54 Dif: 0 NS:-9 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 0 EW:9 4HW-1 50 30 1
» AJ8432 » 97 » J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v 2HE2 110 20 1
+ AK87 + Q93 + KJ86 3SN-2 200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 2HS3 140 Mean: 2HS3 140 60 2 ||# 14 4 J63 2HN-1 50 Mean: 2SS4 170 20 1
v AT42 2HS2 -110 -100  2HS2 110 50 1 v A963 1SS2-110 100  1NS3 150 2.0 1
+ A62 Dif: -30 NS:5 3HS-1 4100 00 1 ¢ 9652 Dif: 160 NS:0 1SS3 140 10 1
» K32 IMP: -1 EW:-6 3HN-1 100 00 1 » Q8 IMP: 4 EW:4 1NN2 120 1.0 1
» AT82 N » Q63 2HS-1 100 00 1 ||a 754 a Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 1SS2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4HE-1 -50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 2CE-1-100 Mean: 3DXS3 470 110 1
v 842 3SW4170 -110  4HE-1 50 40 2 v A932 4HW-2 -200 -40  4HW-2 200 6.0 2
¢ 873 Dif: -220 NS:-2 3SW4 470 20 1 + J876 Dif: 100 NS:6 2CE-1 100 40 1
& AK753 IMP: -6 EW:-4 5DS-4 400 70 1 &6 IMP: 3 EW:-4 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 —_— v KT5 2HW2 410 20 1
* Q6 ¢ 54 . + K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~
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1 O NS: F325 5REHEAC) -10 8 S: 8|2 MEIE (o) -1 6.88 13.12| Total VP: 83.84 Rank:
EW: E‘jlﬁﬁ ‘Bﬂﬁ(ﬁﬁ@ 1 EW: Sp#li4 218 5E(BAC) 10 IMP:| 11 9
o
#9 'y 983 3HE3 140 Mean: 4HE-2 200 80 1 |[#10 » QT65 6HW6 1430 Mean: 5HE6 680 7.0 1
v 72 5CXS-3 500 -130 3CN3 110 6.0 1 v K8 6HW7 1460 -980  4HW? 710 7.0 1
* QJ72 Dif: -360 NS:-9 3CS-1 -50 20 2 + 653 Dif: -30 NS:-10 4HW6 680 7.0 2
& A763 IMP: -8 EW:0 4CS-2 4100 1.0 1 » K984 IMP: -1 EW:10 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-1-50 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420 4SW4 420 00 7 v T984 3NE-2-100 -60  4HW-2 100 40 1
¢ J9632 Dif: 0 NS:0 3NW4 430 00 1 ¢ T54 Dif: 50 NS:4 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 2 EW:-3 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
+ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
# 13 & K54 2HS3 -140 Mean: 2HS3 140 60 2 |(|#14 4 J63 2HN2 -110 Mean: 2SS4 170 20 1
v AT42 4HS-3 300 -100 2HS2 110 50 1 v A963 2HN2 -110 100  1NS3 150 2.0 1
* A62 Dif: -440 NS:-5 3HS-1 4100 00 1 ¢ 9652 Dif: 0 NS:0 1SS3 140 1.0 1
» K32 IMP: -10 EW:-6 3HN-1 100 00 1 » Q8 IMP: 0 EW:0 1NN2 120 1.0 1
& AT82 \ 4 Q63 2HS-1 100 00 1 ||s 754 » Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
* Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4SW-1-50 Mean: 4SW-1 50 40 4 ||# 16 » QJT7 3HE4 170 Mean: 3DXS3 470 110 1
v 842 4SW-1-50 -110  4HE-1 50 40 2 v A932 4HW-2 -200 -40  4HW-2 200 6.0 2
¢ 873 Dif: 0 NS:4 3sw4 470 20 1 + J876 Dif: 370 NS:6 2CE-1 100 40 1
& AK753 IMP: 0 EW:-4 5DS-4 400 70 1 &6 IMP: 9 EW:4 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
+ Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~




